Expansion of brackets

Q1. Expand the single brackets.

a) 2X (3x+4)

c)  -3x%y (5x- 2y)

e) -4xy(x*- 3y)

g) 3mn*(m-7n)

i) -4x°y (2xy°*+3xy?)

b)  9x(x- 3y?)

d)  13xy?(x°+y)

f)  14pq (3p°-2q)

hy  -5p°3p°-5q%)

) TXY (2XYP+5Y0)

Q2. Expand the following brackets

a) (2x-1)(3x+2)

S
D

c) (3x+1)(4x+7)

e) (2x+3)(3x+5)

g) (3x+2y)(5x-3y)

) (x-2y)(x*-5y)

—
e

b) (4x-1)(5x+3)

d. (x-2y)(2x+1)

f) (3p+7q)(5p+9)

h) (7x-2y)(3x+3y)

j) (2x*-5y°)(3x-8y?)
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Q3. Expand the followings square of algebraic expression.

a) (2x+1)7° b)  (5x + 2)°

:) (5x + 3)? :) (x + 2y) *
:) (Bx+y)? ' :) (ax+ 3y
;) (x + 3y)* :) (5x + 2y)°
; (4x + 5y)? J-; (x=1)°

:) (x - 2)° ; (x - 3)°

=m) (5x - 4)° | :) (3x - 5)?

:) (7x - 6)° :) (x—2y)° -
;) (x = 3y)* ; (2x = 3y)*
;) (5p - 4q) ° ; (6p - 7q)°
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Q4. Expand the following brackets.
a) (3x+2y)(3x-2y) b) (7x+5y)(7x-5y)

c) (3p+7q)(3p-7q) d) (4x+9y)(4x-9y)
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